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[H3c]ict mode enable

|Tct mode cannot be enabled when device memory 1s less than or equal to 5GB. |
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[H3C]display memory
Memory statistics are measured in KB:

||

Slot O:

Total Used Free Shared Buffers Cached FreeRatio
Mem: 7866172 4182596 3683576 0 4692 1242100 46.8%
-/+ Buffers/Cache: 2935804 4930368
Swap: 0 0

Container memory statistics are measured in KB:
Slot O:

Total Used Free UsageRatio
Mem: 7866172 684664 3683576 8.7%
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https://zhiliao.h3c.com/questions/catesDis/567
https://zhiliao.h3c.com/User/other/370688
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